



(1) (a) **0.4**

$$\begin{aligned}\Delta y &= f(x + \Delta x) - f(x) \\ &= 4(x + \Delta x) + 1 - (4x + 1) \\ &= 4\Delta x \\ &= 4(0.1) = 0.4\end{aligned}$$

(b) **0.4**

$$\begin{aligned}dy &= f'(x)dx \\ &= 4dx \\ &= 4(0.1) = 0.4\end{aligned}$$

(2)  $-\frac{10}{9}$

$$\begin{aligned}xy + 3x + 2y &= 4 \\ x \frac{dy}{dx} + y(1) + 3 + 2 \frac{dy}{dx} &= 0 \\ \frac{dy}{dx} &= -\frac{y + 3}{x + 2} \\ &= -\frac{1/3 + 3}{1 + 2} \\ &= -\frac{10}{9}\end{aligned}$$

(3) **54.08**

$$\begin{aligned}\frac{d}{dt}D^2 &= \frac{d}{dt}x^2 + \frac{d}{dt}y^2 \\ 2D \frac{dD}{dt} &= 2x \frac{dx}{dt} + 2y \frac{dy}{dt} \\ \frac{dD}{dt} &= \frac{x \frac{dx}{dt} + y \frac{dy}{dt}}{D} \\ &= \frac{(90)(45) + (60)(30)}{\sqrt{90^2 + 60^2}}\end{aligned}$$